Dividing Money (A)

—

i

10.

Calculate each quotient.

42) $2793.00 2. 62) $2635.00 3. 87) $4067.25
63 ) $4378.50 5. 60 ) $3750.00 6. 54 ) $5049.00
77) $4350.50 8 55) $3341.25 9. 21 ) $850.50

If 68 identical lanterns cost $1683.00, how much did each lantern cost?
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Dividing Money (A) Answers

10.

$ 66.50

42 ) $2793.00
—$2520.00
$273.00
—8252.00
$21.00
—$21.00

$0.00

$ 69.50

63) $4378.50
—$3780.00

$598.50
—$567.00

$31.50
—$31.50

$0.00

$ 56.50

77 ) $4350.50
—$3850.00

$500.50
—$462.00

$38.50
—$38.50

$0.00

2.

5.

Calculate each quotient.

$ 42.50

62 ) $2635.00
—52480.00
$155.00
—$124.00
$31.00
—$31.00

$0.00

$ 62.50

60 ) $3750.00
—$3600.00

$150.00
—$120.00

$30.00
—$30.00

$0.00

$ 60.75

55 ) $3341.25
—$3300.00

$41.25
—$38.50

$2.75
—$2.75

$0.00

3.

6.

$ 46.75

87 ) $4067.25
—$3480.00

$587.25
~$522.00

$65.25
—$60.90

$4.35
—3$4.35

$0.00

$ 93.50

54 ) $5049.00
—584860.00
$189.00
—$162.00
$27.00
—$27.00

$0.00

$ 40.50

21 ) $850.50
—$840.00

$10.50
—$10.50

$0.00

If 68 identical lanterns cost $1683.00, how much did each lantern cost?

$24.75
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